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( 12a8b=3¢? )
>$& ((24*a~10%b"-8%c”7)/(12*a"6%b~-3%c"5)) -5

b25
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>$& ((2%x~3*y"7)/(z°-1))"3

81’9 y21 ZS



26 x 973 £ 210 - 98

>$& 276%x2°-3/2710/2°-8

4(8—6)2—4x3+2x8

31+ 190

>$& (4% (8-6) “2-4%3+2%8) /(371+1970)
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(=5mn?)(6m?*n?)

>$&showev (’expand((-5*m~4*n~2)*(6*m~2*n"3)))

expand (—30 mb n5) = -30m%n®

(6zy”)(92y?)

>$&showev (’expand ((6*x*y~3)*(9*x"4*y~2)))

expand (54 x° y5) =542°y°



(n+6)(n—6)

>$&showev (’expand ((n+6)*(n-6)))

ezpand ((n — 6) (n +6)) =n? — 36

>$&showev (’expand ((x-4)°2))

expand ((:I: - 4)2) =22 —8x+16

(tm+n)m+n . (tmfn)mfn



>$&showev (’expand ((t~ (m+n))~ (m+n)*(t~ (m-n)) "~ (m-n)))

empand ((tn—m)"_m (tn—i-myH‘W) _ (tn—m)"_m (tn+m)”+m
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22— 81

>$& factor (z"2-81)

(z=9) (2+9)



>$& factor (1-8*x+16*x7~2)

>$& factor (t~6+1)

>$& factor (5*m~4-20)

1 — 8z + 1622

(4z —1)?

to+1

(t*+1) (t* =2 +1)

5m* — 20



5(m*—2) (m*+2)

20—+t — P42 —1

>$& factor (x"6-2*x"5+x"4-x"2+2*x-1)

(z—1)° (@ +1) (2 +1)
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22 4+5x=0

>s0l &= solve(x~2+5*x=0,x); $&sol

[x = =5, =0]



>s0l &= solve(t~2=25,t); $&sol

>so0l &= solve(14=x*(x-5),x); $&sol

>sol &= solve(z~2=144,z); $&sol

[t=—5,t="5]

14 = z(x — 5)

22 =144



>sol &= solve(n~2+4*n+4=0,n); $&sol

[z =—12,2z = 12]

n?4+4dn+4=0
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1.
x?—4
22 — 4o +4

>$&solve ((x72-4) / (x*2-4*x+4))



6y% + 12y — 48
3y2 —9y + 6

>$&solve ((6xy~2+12%y-48) / (3*y~2-9%y+16) )

ly=—4,y =2

7 n 3
br bz

>$&solve ((7/5%x)+(3/5%x))



>$&solve((5/a-3)-(2/a"2-9))

>$&solve ((7/12%y)-(1/12%y))

a—3

a?—9
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>$& (sqrt (-21)°2)

>$& (sqrt (180))

>$& (sqrt (12)/5)

—21

V180
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>$& (sqrt((a-2)"2))

>$& (sqrt (2/3))

la—2]
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>$&solve (h(x)=1/(x-2) "4)

>$&solve (h(x)=(4+3%x) "5)
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x:e%h(x)

h(x) = (4 + 3z)°




2+x36
hle) = (w)
>$&solve (h(x)=(2+x"3/2-x"3) "6)

22 = 8 Vi @.a% = -8 Vi)

>$&solve (h(x)=(sqrt(x-5)/(x+2)))
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W) = (Va - 3)!

>$&solve (h(x)=(sqrt(x)-3)"4)

[ —\/h (@) + v (1224 108) + 648 — 27,2 = [ («

)+ vz (122 + 108) + 648 — 27

3.1

Ti(2 — 5i)

>$& (Txix (2-5%1i))

7(2-54) i



(12 + 3i) + (—8 + 5i)

>$& ((12+3%1)+(-8+5%1i))

81+ 4
3.
(3++v—16) + (2+ v —25)
>$& (3+sqrt (-16))+(2+sqrt (-25))
91+5
4.
V—=49./-9

>$& (sqrt (-49) *sqrt (-9))



>$&((-1-1)+(-3-1))

—21

(=1—d)+(=3-1)

—21—4

3.4

>$&solve(1/3-5/6=1/x)
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\
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>$&solve (sqrt (3*x-4))

>$&solve (x+(6/x)=5)

V3r—4=1

r—15 x 22— 15z

>$&solve ((1/x-15)-(1/x)=15/(x"2-15%x))




15 —v221 V221 + 15
€Tr =
2 ’ 2

V2 —Tx =2

>$&solve (sqrt (2-7*x)=2)

3.5

|z 43 —2=28

>$& fourier_elim([abs(x+3)-2=8], [x])

fourier__elim ([|x + 3| — 2 = 8], [z])



12— |z+6/=5

>$& fourier_elim(12-[abs(x+6)=5], [x])

fourier__elim ([12 — |z + 6] = 7], [x])

5z +4) +2=5

>$& fourier_elim([abs (5*x+4)+2=5], [x])

fourier__elim ([|5x + 4| +2 = 5], [z])

5— |4z + 3| =2

>$& fourier_elim(5-[abs(4*x+3)=2], [x])



fourier__elim ([5 — |42 + 3| = 3], [z])

|z —4]+3=9

>$& fourier_elim([abs(x-4)+3=9], [x])

fourier__elim ([|x — 4| + 3 = 9], [z])

4.1

flz) =2t — 422 +3

>$&solve (f (x)=(x"4-4%x2"2+3))

I

[0 =i (f (@) +61)% o= —(f (&) +61)} o = i (f (z) +61)

o= (f () +61)

e



flx)=2%—2* - 2242

>$&solve (f (x)=(x"3-x"2-2*x+2))
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flx) =223 — 2% — 8z +4

>$&solve (f (x)=(2*x"3-x"2-8*x+4))
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f(z) = (2 — 5z +6)?

>$&solve (f (x)=(x"2-5*x+6) "2)

x:§_\/1—4\/f(z) x_\/174\/f(x)+
2 2 e 2

é_\/4\/f(x)+1 \/4«/f(9:)+1+5
2 2 = 2 2

DO | Ot

Jx:

flz) =2 =102 +9

>$&solve (f (x)=(x"4-10%x"2-+9))

{x2:\/f(x)+34+5,x2:5— f(x)+34}

4.3




(z* —1) = (z—1)

>$& solve((x~4-1)/(x-1))

r=—i,x=11x=—1]

f(z) =a% - 122416

>$& solve(f(x)=x"3-12*x+16)

x<“§i1> <\/(f(x)32)f(x)+f(m)—16>é+ (3 -d) x(ﬁl)( e
2 2 2 2 < (f(r)_32)f(z)+f(w)216)3 2 2
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(22% + 723 + 2 — 12) = (x + 3)

>$& solve (2%x~4+7*x"3+x-12) / (x+3)

>$& solve ((x~5+32)/(x+2))
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(2% — 222 —8) + (2 +2)

>$& solve((x"3-2%x"2-8)/(x+2))
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Chapter 3 Test

vVe+4—+vVr—4=2

>$& solve((sqrt(x+4))-(sqrt(x-4))=2)

Ve td=vi—d+2)




x+5r—36=0

>$& solve (x+5*(sqrt(x))-36=0)

[z =36 —5/x]

|4y —3[ =5

>$&fourier_elim([abs (4*y-3)=5], [y])

fourier__elim ([|4y — 3| = 5], [y])

>$& solve(3/3*x+4)+(2/x-1)=2



SRR

2
r+Z-1=2_5l=2
xr

|z +4| =7

>$&fourier_elim([abs (x+4)=7], [y])

fourier__elim ([|x + 4| = 7], [y])



